
Problema săptămânii 300

Numerele de la 1 la 60 sunt ı̂mpărt, ite ı̂n 30 de perechi, astfel ı̂ncât, ı̂n fiecare pereche,
diferent,a dintre cele două numere este 1 sau 10. Se s,tie că perechea numărului 10
este 11, iar a numărului 20 este 30. Care e perechea numărului 41?

sursa: Bogdan Enescu (multe mulţumiri!)

Problem of the week no. 300

The numbers 1 through 60 are split into 30 pairs such that, within each pair, the
difference between the two numbers is either 1 or 10. It is known that the par of 10
is 11, and the pair of 20 is 30. What is the pair of 41?

sourse: Bogdan Enescu (many thanks!)


